
www.ronixtools.com

POWER TOOLS

6403
Sander 320W



www.ronixtools.com

POWER TOOLS

6403
Sander 320W

Number Name

1 Foam plate

2 Screw M4×14

3 Aluminum thin plate

4 O ring

5 Aluminum plate

6 Screw M4×10

7 Wire clip

8 Screw ST4×16

9 Scaffold linking piece

10 Holder

11 Screw M5×14

12 Washer 5 (15×2)

13 Balance block

14 Flat screws M4×12

15 Bearing gland

16 6202LUV bearing 

17 Flat washer 15

18 Fan

19 Screw ST4×16

20 Screw ST4×16

21 Middle cover

22 Rear cover

23 Switch

26 Chassic

27 Brush holder

28 Carbon brush

29 Carbon brush cap

30 Stator 

31 Screw ST4.2×45

32 627 bearing 

33 Small shield

34 Rotor

36 Flat washer 

37 6000 bearing 

38 Protective jacket

39 Cable


